




1) 5 apples + 2 apples =

2) 5 thirds + 2 thirds =

3)

4)

7
9
−

4
9

8
11
− 5

11
− 1

11

=

=



1) 5 apples + 2 apples =

2) 5 thirds + 2 thirds =

3)

4)

7
9
−

4
9

8
11
− 5

11
− 1

11

=

=

7 apples

3
9

2
11

7 thirds





2
5

Dexter eats      of his chocolate bar.

Alex eats      of her chocolate bar.
4
5

Do they eat more than 1 whole chocolate bar 
altogether?
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Have a think
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Have a go at questions 
1 - 3 on the worksheet
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Mo and Tommy each have a jug of milk. 

Mo’s jug contains litres less milk than Tommy’s.
5
7

The total milk in the two jugs is 3    litres. 
2
7

How much milk does Mo have?

Mo

Tommy

2
73
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9
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9
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2
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1 litres



Have a go at questions 
4 - 7 on the worksheet


